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1. How many percentage of 

population of the world dwells in 

India ? 

(A)   22% 

(B) 16% 

(C) 18% 

(D) 20% 

 1. Hkkjr esa nqfu;k dh fdrus izfr’kr vkcknh 

jgrh gS \ 

(A)   22% 

(B) 16% 

(C) 18% 

(D) 20% 

2. For cotton which kind of soil is 

required ? 

(A)   Black 

(B) Red 

(C) Laterite 

(D) All the above 

 2. dikl dh mit ds fy, dkSu lh feêh dh 

t:jr gksrh gS \ 

(A) dkyh 

(B) yky 

(C) nkseV 

(D) mijksDr lHkh 

3. The plants which grows in desert 

are known as : 

(A)   Xerophytes 

(B) Mesophytes 

(C) Trophophytes 

(D) Sciophytes 

 3. jsfxLrku esa mxus okys ikS/kks dks dgk tkrk 

gS % 

(A) thjksQkbZV 

(B) ehlksQkbZV 

(C) VªksQksQkbZV 

(D) fLd;ksQkbZV 

4. Which State India possess forest 

more than other States ? 

(A)   Arunachal Pradesh 

(B) M.P. 

(C) Nagaland 

(D) Mizoram 

 4. bueas ls fdl izns’k esa ou {ks= vf/kd gS \ 

(A) v:.kkapy izns’k 

(B) e/; izns’k 

(C) ukxkyS.M 

(D) fetksje 



Series-B B.Com.(Part-II&III)– 0512 Page - 4 

5. Which type of Lion are found in 

Gujrat ? 

(A)   Masai 

(B) Abyssinian 

(C) Babbar 

(D) Katanga 

 5. xqtjkr esa dkSu lk ‘ksj iztkfr feyrh gS \ 

(A) elkbZ 

(B) ,cSfl;u 

(C) cCcj 

(D) dkVaxk 

6. “Kane Canal” Starts from which 

place ? 

(A)   Banda - UP 

(B) Rohtak - Punjab 

(C) Okhla - Delhi 

(D) Renookut  - UP 

 6. dsu ugj dgk¡ ls ‘kq: gksrh gS \ 

(A) ck¡nk & ;wŒihŒ 

(B) jksgrd & iatkc 

(C) vks[kyk & fnYyh 

(D) jsuwdqV & ;wŒihŒ 

7. Kolar in Karnataka is famous for : 

(A)   Gold 

(B) Silver 

(C) Aluminum 

(D) Coper 

 7. dukZVd esa dksykj blds fy;s izfl) gS %  

(A) lksuk 

(B) pk¡nh 

(C) ,Y;qfefu;e 

(D) dkWij 

8. Which kind of Coal is superior ? 

(A)   Anthracite 

(B) Lignite 

(C) Bituminous 

(D) Subbituminous 

 8. dkSu lk dks;yk loksZÙke gksrk gS \ 

(A) ,UFkzklkbZV 

(B) fyXukbZV 

(C) fcVqfeul 

(D) lcfcVqfeul 
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9. Ahemdabad in Gujrat is famous 

for : 

(A)   Cotton cloth 

(B) Chemicals 

(C) Silk cloth 

(D) Glass ware 

 9. xqtjkr esa vgenkckn izfl) gS % 

(A) dikl ds diM+s 

(B) jlk;u 

(C) js’ke ds diM+s 

(D) ‘kh’ks ds leku 

10. Which state of India is known for 

highest ground nut Production ? 

(A)   M.P. 

(B) Gujrat 

(C) Maharashtra 

(D) Tamil Nadu 

 10. Hkkjr esa dkSu lk jkT; ewaxQyh ds mRiknu 

gsrq tkuk tkrk gS \ 

(A) e/; izns’k 

(B) xqtjkr 

(C) egkjk”Vª 

(D) rfeyukMq 

11. How many types of Railway lines 

are in India? 

(A)   Two 

(B) Three 

(C) Four 

(D) None of the above 

 11. Hkkjr esa fdrus izdkj dh jsy ykbZu gS \ 

(A) nks 

(B) rhu 

(C) pkj 

(D) mijksDr esa ugha 

12. Who is created as first person for 

space programme in India ? 

(A)   Dr. M.S. Swami Nathan 

(B) Dr. Vikram Sarabhai 

(C) Dr. A.P.J. Abdul Kalam 

(D) Dr. J. Mahalnobish 

 12. vkUrfj{k vUos”k.k ds fy;s Hkkjr ds fdl 

O;fDr dks [;kfr izkIr gS \ 

(A) MkŒ ,eŒ,lŒ LokehukFku 

(B) MkŒ foØe lkjkHkkbZ 

(C) MkŒ ,ŒihŒtsŒ vCnqy dyke 

(D) MkŒ tsŒ egkyuksfcl 
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13. “Kanchanjanga” is Situated in 

which State of India? 

(A)   Sikkim 

(B) Meghalaya 

(C) Assam 

(D) Uttrakhand 

 13. daputa?kk Hkkjr esa dgk¡ fLFkr gS \ 

(A) flfDde 

(B) es?kky; 

(C) vklke 

(D) mÙkjk[k.M 

14. Which city of India is known as 

Electronic city? 

(A)   Hyderabad 

(B) Bengaluru 

(C) Chennai 

(D) Mangaloru 

 14. Hkkjr esa fdl ‘kgj dks bysDVªkfud ‘kgj 

dgk tkrk gS \ 

(A) gSnjkckn 

(B) cSaxyq: 

(C) psUubZ 

(D) eSaxykS: 

15. Garo and Khasi hills are situated in 

which State of India ? 

(A)   Assam 

(B) Meghalaya 

(C) Manipur 

(D) Nagaland 

 15. xkjks o [kklh igkfM+;ka Hkkjr ds fdl jkT; 

esa fLFkr gS \ 

(A) vklke 

(B) es?kky; 

(C) ef.kiqj 

(D) ukxkyS.M 

16. Artificial Rubber is mode from : 

(A)   Ethylene 

(B) Butadin 

(C) P.V.C. 

(D) Propanol 

 16. Ñf=e jcj blls curk gS % 

(A) bfFkfyu 

(B) cqV~kMhu 

(C) ihŒohŒlhŒ 

(D) izksisukWy 
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17. Bengal Tiger are found in which 

forest ? 

(A)   Gir 

(B) Sunder 

(C) Garo 

(D) Nilgiri 

 17. caxky VkbZxj fdl taxy esa ik;k tkrk gS \ 

(A) fxj 

(B) lqanj 

(C) xkjks 

(D) uhyfxjh 

18. 16 September is Celebrated as : 

(A)   World Aids Day 

(B) Ozone layer Conservation 

day 

(C) World vaccination day 

(D) World Environment day 

 18. 16 flrEcj euk;k tkrk gS % 

(A) oMZ ,M~l fnol 

(B) vkstksu irZ laj{k.k fnol 

(C) oMZ oSDlhus’ku fnol 

(D) oMZ i;kZoj.k fnol 

19. Suez Canal connects : 

(A)   Mediterranean Sea of Red 

Sea 

(B) Pacific to Red Sea 

(C) Indian to Arctic Sea 

(D) None of the above 

 19. Lost ugj tksM+rh gS % 

(A) Hkwe/; lkxj dks yky lkxj ls 

(B) iz’kkUr lkxj dks yky lkxj ls 

(C) fgUn dks vkdZfVd lkxj ls 

(D) mijksDr esa ugha 

20. Precious stones are found in : 

(A)   Sedimentary rocks   

(B) Metamorphic rocks 

(C) Ingenious rocks   

(D) All the above 

 20. dherh iRFkj izkIr gksrs gS % 

(A) rygVh iRFkj ls 

(B) :ikUrfjr iRFkj ls 

(C) vkXus; iRFkj ls 

(D) mijksDr lHkh ls 
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21. Which mountain of India is 

considered oldest ? 

(A)   Vindhya 

(B) Arawali 

(C) Satpura 

(D) Aabu 

 21. Hkkjr esa lcls iqjkuk ioZr gS % 

(A) foa/; 

(B) vjkoyh 

(C) lriqM+k 

(D) vkcq 

22. Which is known as morning star ? 

(A)   Venus  

(B) Mercury  

(C) Saturn 

(D) Mars 

 22. fdldks Hkksj dk rkjk dgrs gSa \ 

(A) ‘kqØ 

(B) cq/k 

(C) ‘kfu 

(D) eaxy 

23. Titan is the satellite of which 

planet ? 

(A)   Mars 

(B) Mercury 

(C) Venus  

(D) Saturn 

 23. VkbfVu fdl xzg dk mixzg gS \ 

(A) eaxy 

(B) cq/k 

(C) ‘kqØ 

(D) ‘kfu 

24. Sun gives Energy from which 

rays? 

(A)   UV rays and light rays  

(B) Infrared rays and X rays  

(C) Radio waves 

(D) All the above 

 24. lw;Z ls ÅtkZ fdu fdj.kksa ls izkIr gksrh gS \ 

(A) ijkcSaxuh o izdk’k fdj.k 

(B) vojDr o ,Dl fdj.k 

(C) jsfM;ks fdj.k 

(D) mijksDr lHkh 
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25. Which planet is knowns as sister 

of Earth? 

(A)   Venus 

(B) Marsh 

(C) Mercury 

(D) Pluto 

 25. fdl xzg dks ìFoh dh cgu dgrs gaS \ 

(A) ‘kqØ 

(B) eaxy 

(C) cq/k 

(D) IyqVks 

26. “Green land” the Largest island is 

situated in : 

(A)   Pacific Ocean 

(B) Mediterranean Ocean 

(C) Arctic Ocean 

(D) Indian Ocean 

 26. lcls cM+k egk}hi ÞxzhuyS.Mß faLFkr gS % 

(A) iz’kkUr egklkxj 

(B) Hkwe/; egklkxj 

(C) vkdZfVd egklkxj 

(D) fgUn egklkxj 

27. Oxygen Gas in the atmosphere is 

found in height of : 

(A)   128 Km 

(B) 64 Km 

(C) 32 Km 

(D) 55 Km 

 27. okrkoj.k esa vkWDlhtu xSl fdl Åpk¡bZ rd 

ik;h tkrh gS % 

(A)   128 Km 

(B) 64 Km 

(C) 32 Km 

(D) 55 Km 

28. Fathom is equal to how many 

meters? 

(A)   1.5 M 

(B) 1.8 M 

(C) 2.5 M 

(D) 2.58 M 

 28. QSne fdrus ehVj ds cjkcj gksrk gS \ 

(A)   1.5 M 

(B) 1.8 M 

(C) 2.5 M 

(D) 2.58 M 
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29. Which Indian crop is produced 

maximum in the world? 

(A)   Rice 

(B) Wheat 

(C) Cane 

(D) Ground nut 

 29. Hkkjr esa dkSu lh Qly nqfu;k esa lcls 

T;knk gksrh gS \ 

(A) pkoy 

(B) xsgw¡ 

(C) xUuk 

(D) ewaxQyh 

30. “Nagarjun dam” is on which river? 

(A)   Krishna 

(B) Sharda 

(C) Kosi 

(D) Tava 

 30. ukxktqZu cka/k fdl unh ij fLFkr gS \ 

(A) —”.kk 

(B) ‘kkjnk 

(C) dkslh 

(D) rok 

31. Black mountains are situated in 

which country ? 

(A)   Sudan 

(B) Bhutan 

(C) Egypt 

(D) Malesia 

 31. dkys ioZr fdl ns’k esa fLFkr gS \ 

(A) lwMku 

(B) HkwVku 

(C) felz 

(D) eysf’k;k 

32. Safety values of nature is called : 

(A)   Volcanos 

(B) Rivers 

(C) Mountains 

(D) All the above 

 32. iz—fr ds lqj{kk }kj budks dgrs gS % 

(A) Tokykeq[kh 

(B) unh 

(C) ioZr 

(D) mijksDr lHkh 
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33. “Anand” in Gujrat is famous for : 

(A)   Milk 

(B) Silk 

(C) Chemicals 

(D) Cotton Cloths 

 33. xqtjkr esa vkuan izfl) gS % 

(A) nw/k 

(B) js’ke 

(C) jlk;u 

(D) dikl ds diMs+ 

34. Which city of India is called 

science city? 

(A)   Bengaluru 

(B) Cuttack 

(C) Bhuneshwar 

(D) Chandipur 

 34. Hkkjr esa fdl ‘kgj dks foKku ‘kgj dgrs 

gS\ 

(A) cSaxyq: 

(B) dVd 

(C) HkqOkus’oj 

(D) pk¡nhiqj 

35. Which planet have maximum 

numbers of Satelites? 

(A)   Venus 

(B) Saturn 

(C) Mars 

(D) Earth 

 35. fdl xzg ds lcls T;knk mixzg gS \ 

(A) ‘kqØ 

(B) ‘kfu 

(C) eaxy 

(D) ìFoh 

36. Source of energy in sun is due to : 

(A)   Nuclear fission  

(B) Nuclear fusion 

(C) Both of them 

(D) None of the above 

 36. lw;Z eas ÅtkZ bl }kjk gS % 

(A) ukfHkdh; fo[k.Mu 

(B) ukfHkdh; lay;u 

(C) mijksDr nksuksa 

(D) mijksDRk esa ugha 
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37. Which two minerals are twins 

minerals ? 

(A)   Lead and Tin 

(B) Lead and Copper 

(C) Lead and Zink 

(D) Copper and Tin 

 37. dkSu lh [kfut tqM+ok [kfut gS \ 

(A) ‘kh’kk vkSj fVu 

(B) ‘kh’kk vkSj dkWij 

(C) ‘kh’kk vkSj ftad 

(D) dkWij vkSj fVu 

38. Ionosphere is found in : 

(A)   Stratosphere 

(B) Mesosphere 

(C) Troposphere 

(D) Thermosphere 

 38. vkbuksLQh;j fLFkr gS % 

(A) LVªsVks LQh;j esa 

(B) eslks LQh;j esa 

(C) VªksQks LQh;j esa 

(D) FkeksZ LQh;j esa 

39. Which one causes destruction of 

Ozone Layer? 

(A)   CFCs 

(B) Radioactive Substances 

(C) Air Pollution 

(D) All the above 

 39. fdlls vkstksu irZ esa vijnu gksrk gS \ 

(A) Dyksjks ¶yksjks dkcZu ls 

(B) jsfM;ks,fDVo rRoksa ls 

(C) ok;q iznw”k.k ls 

(D) mijksDr lHkh 

40. Green House effect is associated 

with : 

(A)   Crop yield 

(B) Healing of Earth Atmosphere 

(C) Algal Growth in lakes 

(D) None of the above 

 40. xzhu gkml ¼gfjr ?kj½ izHkko lEcaf/kr gS % 

(A) Qly mRiknu ls 

(B) ìFoh ds ok;qe.My dh xjeh ls 

(C) rkykcksa esa ‘kSokyks dh c<+ksÙkjh ls 

(D) mijksDr esa ugha 
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41. Atmospheric pressure is measured 
by : 
(A)   Sphagno manometer 
(B) Barometer 
(C) Fathometer 
(D) None of the above 

 41. ok;qe.My nkc ukik tkrk gS % 

(A) LQhxuks eSuksehVj ls 

(B) CkSjksehVj ls 

(C) QSnksehVj ls 

(D) mijksDr esa ugha 

42. A single atom of Chlorine destroys 
how many molecular of Ozone ? 
(A)   1,000 
(B) 10,000 
(C) 10,0000 
(D) None of the above 

 42. Dyksjhu dk ,d v.kq fdrus vkstksu v.kqvksa 

dks u”V djrk gS \ 
(A)   1,000 
(B) 10,000 
(C) 10,0000 
(D) mijksDr esa ugha 

43. Tinnitus disease is related to : 

(A)   Eye 

(B) Ear 

(C) Nose 

(D) None of the above 

 43. fVuhVl jksx lEcaf/kr gS % 

(A) vk¡[k 

(B) dku 

(C) ukd 

(D) mijksDRk esa ugha 

44. Which Gas is known as Natural 

Gas? 

(A)   O2 

(B) CO2 

(C) CH4 

(D) N2 

 44. fdl xSl dks izk—frd xSl dgrs gS \ 

(A) vkWDlhtu  

(B) dkcZu MkbZ vkWDlkbM 

(C) esFksu 

(D) ukbVªkstu 

45. Which one is fossil Fuel ? 

(A)   Coal 

(B) Petroleum 

(C) Natural Gas 

(D) All the above 

 45. dkSu thok’e bZ/ku gS \ 

(A) dks;yk 

(B) isVªksy 

(C) izk—frd xSl 

(D) mijksDr lHkh 



Series-B B.Com.(Part-II&III)– 0512 Page - 14 

46. The chief Metal pollution for 
Human being is? 
(A)   Fluoride 
(B) Arsenic 
(C) Lead 
(D) Tin 

 46. dkSu lh /kkrq euq”;ksa ds fy, izeq[k iznw”k.k 

gS\ 

(A) ¶yksjkbM 

(B) vklsZfud 

(C) ‘kh’kk 

(D) fVu 

47. Etna Volcano is found in which 
country ? 
(A)   Japan 
(B) Italy 
(C) Colombia 
(D) Nizeria 

 47. bVuk Tokykeq[kh fdl ns’k esa ik;h tkrh gS\ 

(A) tkiku 

(B) bVyh 

(C) dksyfEc;k 

(D) ukbZthfj;k 

48. The Science of Study of Earth 
quakes is called : 
(A)   Seismology 
(B) Cosmology 
(C) Crustology 
(D) Volcanology  

 48. HkwdEi ds oSKkfud v/;;u dks dgrs gS % 

(A) lhleksyksth 

(B) dkLeksyksth 

(C) ØLVksyksth 

(D) oksYdSuksyksth 

49. Marble is a : 
(A)   Metamorphic rock  
(B) Igneous rock 
(C) Sedimentary rock 
(D) None of the above 

 49. laxejej dkSu lk iRFkj gS % 

(A) :ikUrfjr pêkus 

(B) vkXus; pêkus 

(C) rygV pêkus 

(D) mijksDr esa ugha 
50. Movement of Water in sea shows 

as : 

(A)   Waves 

(B) Tides 

(C) Ocean current 

(D) All the above 

 50. ikuh dk cguk leqnz esa fn[krk gS % 

(A) ygjks 

(B) Tokj 

(C) leqnzh izokg 

(D) mijksDr lHkh 
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51. National Green Tribunal in India 

established in year : 

(A) 2010 

(B) 2014 

(C) 2008 

(D) 2019 

 51. jk”Vªh; gfjr vf/kdj.k dh LFkkiuk fdl o”kZ 

gq;h % 

(A)   2010 

(B) 2014 

(C) 2008 

(D) 2019 

52. The Environment is a Complex 

that include : 

(A)   Biotic or Abiotic factor   

(B) Physical or chemicals factors 

(C) Lithosphere hydrosphere and 

atmosphere   

(D) All the above 

 52. i;kZoj.k ,d tfVy rU= gS vkSj blesa 

‘kkfey gS % 

(A) tho o vtho dkjd 

(B) HkkSfrd o jklk;fud dkjd 

(C) LFky ty o ok;q e.My 

(D) mijksDr lHkh 

53. Biotic component of the 

environment includes : 

(A)   Flora 

(B) Fauna 

(C) Both (A) or (B) 

(D) None of the above 

 53. i;kZoj.k ds tho rRo gS % 

(A) LFkkuh; ikS/ks 

(B) LFkkuh; tho 

(C) mijksDr nksukas (A) vkSj (B) 

(D) dksbZ Hkh ugha 

54. Biotic component includes : 

(A)   Herbivores  

(B) Carnivores 

(C) Decomposers 

(D) All theabove 

 54. tho rRo gS % 

(A) ‘kkdkgkjh 

(B) eklkagkjh 

(C) vi?kVd 

(D) mijksDr lHkh 



Series-B B.Com.(Part-II&III)– 0512 Page - 16 

55. Decomposers are : 

(A)   Snake 

(B) Lion 

(C) Goat 

(D) Bacteria and Fungi 

 55. vi?kVd gS % 

(A) lk¡i 

(B) ‘ksj 

(C) cdjh 

(D) thok.kq o dod 

56. The place where fresh water joins 

the salt water is called : 

(A)   Estuary  

(B) Lagoons 

(C) Dead Sea 

(D) None of the above 

 56. ml LFkku ij tgk¡ lkQ ikuh] uedhu ikuh 

ls feyrk gS dgykrk gS % 

(A) eqgkuk 

(B) [kkM+h 

(C) er̀ lkxj 

(D) mijksDr esa ugha 

57. Planet Earth that sustains life is 

known as : 

(A)   Environment  

(B) Biosphere 

(C) Ecosystem 

(D) None of the above 

 57. ìFoh xzg ij tgk¡ thou gS dgykrk gS % 

(A) i;kZoj.k 

(B) tho eaMy 

(C) ikfjfLFkfrdh rU= 

(D) mijksDr esa ugh 

58. Ecological pyramids are the 

graphic representations of : 

(A)   Number 

(B) Bio mass 

(C) Energy 

(D) All the above 

 58. i;kZoj.k fijkfeM ys[kh; izLrqrhdj.k gS % 

(A) la[;k 

(B) tho Hkkj 

(C) ÅtkZ 

(D) mijksDr lHkh 
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59. The amount of Inorganic 

substances present in environment 

is known as : 

(A)   Standing quality 

(B) Bio mass 

(C) Standing crop 

(D) None of the above 

 59. vdkcZfud inkFkksZ dh ek=k tks i;kZoj.k esa 

gksrh gS dgykrh gS % 

(A) ekud ek=k 

(B) tho Hkkj 

(C) [kM+h Qlys 

(D) mijksDr esa ugha 

60. Eating and being eaten is known 

as: 

(A)   Food chain 

(B) Food web 

(C) Both the above 

(D) None of the above 

 60. [kkuk vkSj [kk;s tkuk dgykrk gS % 

(A) [kkn~; J̀a[kyk 

(B) [kkn~; tky 

(C) mijksDr nksuksa 

(D) mijksDr esa ugha 

61. Interlocking pattern of number of 

food chain forms a web line 

arrangement knows as : 

(A)   Food crop 

(B) Food web 

(C) Productivity 

(D) All the above 

 61. [kkn~; J̀a[kyk tks vkil esa tqM+dj ,d 

tky cuk ysrh gS dgykrh gS % 

(A) [kkn~; Qly 

(B) [kkn~; tky 

(C) mRikndrk 

(D) mijksDRk lHkh 

62. Amount of organic matter 

accumulated in the living 

component of an ecosystem in unit 

time is referred as : 

(A)   Productivity 

(B) Biome 

(C) Ecological succession 

(D) None of the above 

 62. ekud le; esa dkcZfud rRoksa dk tho esa 

bdëk gks tkuk dgykrk gS % 

(A) mRikndrk 

(B) ck;kse 

(C) ifjfLFkfr; mÙkjkf/kdkj 

(D) mijksDr esa ugha 
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63. For an organism Habitual means : 

(A)   Physical space where 

organism lives 

(B) Functional role in community  

(C) Trophic position 

(D) All the above 

 63. fdlh tho ds fy;s vkokl dk vfHkizk; gS \ 

(A) HkkSfrd txg tgk¡ tho jgrk gS 

(B) leqnk; esa dk;kZRed Hkwfedk 

(C) [kkn~; LFkku 

(D) mijksDr lHkh 

64. The Ecosystem involves 

circulation transformation and 

accumulation of ________ thought 

biotic or abiotic component.  

(A)   Matter 

(B) Energy 

(C) Both 

(D) None of the above 

 64. ikfjfLFkfrd rU= esa lonu ,d=hdj.k o 

cnyko gksrk gS % 

(A) rRoksa dk 

(B) ÅtkZ dk 

(C) nksuksa dk 

(D) mijksDr esa ugha 

65. Interrelationship of all kinds of 

organism with their environment is 

termed as : 

(A)   Ecosystem 

(B) Ecology 

(C) Both 

(D) None of the above 

 65. i;kZoj.k o thoksa dk vkilh lEcU/k dgykrk 

gS % 

(A) ikfjfLFkfrdh rU= 

(B) ikfjfLFkfrdh  

(C) nksuksa 

(D) mijksDr esa ugha 

66. The environment includes : 

(A)   External force 

(B) External substance 

(C) External condition 

(D) All the above 

 66. i;kZoj.k esa ‘kkfey gS % 

(A) ckgjh cy 

(B) ckgjh inkFkZ 

(C) ckgjh fLFkfr 

(D) mijksDr lHkh 
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67. Edaphic factors deals with : 

(A)   Soil 

(B) Air 

(C) Water 

(D) All the above 

 67. bMSfQd dkjd fdlls tqMs+ gS \ 

(A) feV~Vh 

(B) gok 

(C) ikuh 

(D) mijksDr lHkh 

68. In environment biotic factors 

means : 

(A)   Plant 

(B) Animals 

(C) Microorganism 

(D) All the above 

 68. i;kZoj.k esa thfor dkjd gS % 

(A) ikS/ks 

(B) tUrq 

(C) lw{etho 

(D) mijksDr lHkh 

69. Climatic factors includes : 

(A)   Light and Temperature  

(B) Rainfall and humidity 

(C) Wind and gases  

(D) All the above 

 69. ekSle ds dkjd gS % 

(A) izdk’k o rki 

(B) o”kkZ o vknzZrk 

(C) gok o xSl 

(D) mijksDr lHkh 

70. Topographic factors of Earth 

include : 

(A)   Altitude 

(B) Valleys  

(C) Slopes  

(D) All the above 

 70. ìFoh ds ry:Ik esa ‘kkfey gS % 

(A) Å¡pkbZ 

(B) [kkM+h 

(C) <Ykku 

(D) mijksDr lHkh 
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71. IUCN maintain record of 

endangered species in? 

(A)   Red data Book 

(B) White Paper Book 

(C) Blue Book 

(D) None of the above 

 71. vkbZŒ;wŒlhŒ,uŒ esa [krjs okyh iztkfr dk 

laxzg fdlesa fd;k tkrk gS\ 

(A) yky fdrkc 

(B) lQsn iUUkksa dh fdrkc 

(C) uhyh fdrkc 

(D) mijksDr esa ugha 

72. Pollution is an undesirable change 

in ______ of air watered soil that 

harm life.    

(A)   Physical  

(B) Chemical 

(C) Biological  

(D) All the above 

 72. ikuh] gok o feV~Vh esa vupkgk cnyko 

iznw”k.k gksrk gS vkSj ;s] izHkkfor djrk gSA 

(A) HkkSfrd 

(B) jklk;fud 

(C) tSfod 

(D) mijksDr lHkh dks 

73. Which one is pollutions of air ? 

(A)   Oxides of Nitrogen 

(B) Halogens 

(C) Carbon monoxide and 

halogens  

(D) All the above 

 73. buesa ls dkSu gok esa iznw”k.k djrk gS \ 

(A) ukbVªkstu ds vkWDlkbM 

(B) gSykstu 

(C) dkcZu eksuks vkWDlkbM o gSykstu 

(D) mijksDr lHkh 

74. Which one is considered as 
biocides?  
(A)   Pesticides 
(B) Herbicides  
(C) Fungicides 
(D) All the above 

 74. buesa ls dkSu thouk’kh gS \ 

(A) dhVuk’kh 

(B) ikS/kkuk’kh 

(C) doduk’kh 

(D) mijksDr lHkh 
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75. Which one is photochemical 

oxidants ? 

(A)   PAN 

(B) PB2 N 

(C) Ethylene 

(D) All the above 

 75. buesa ls dkSu izdk’k jklk;fud vkDlhMsUV 

gS \ 

(A)   PAN 

(B) PB2 N 

(C) Ethylene 

(D) mijksDr lHkh 

76. Which among is non degradable 

pollutants ? 

(A)   Aluminium Cans  

(B) Mercuric salts  

(C) DDT 

(D) All the above 

 76. buesa ls fdl iznw”kd dk vi?kVu ugha 

gksrk\ 

(A) ,Y;qehfu;e 

(B) ikjs dk yo.k 

(C) DDT 

(D) mijksDr lHkh 

77. Which gas are found in highest 
amount in atmosphere among ? 
(A)   Argon 
(B) Carbon dioxide 
(C) Methane 
(D) Hydrogen 

 77. buesa ls dkSu lh xSl i;kZoj.k esa vf/kd 

ek=k esa ikbZ tkrh gS \ 

(A) vkxZu  

(B) dkcZu MkbZ vkDlkbM  

(C) esFksu  

(D) gkbMªkstu  

78. Pollutants in the air are mainly 
judged by the presence of : 
(A)  SO2 
(B) NOX 
(C) SPM(Suspended Particulate 

matter)   
(D) All the above 

 78. gok dk çnw”k.k fdlds }kjk ukik tkrk gS \ 

(A)  SO2 
(B) NOX 
(C)   SPM 

(D) mijksDr lHkh  
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79. Which among is major source of 

gaseous pollution ? 

(A)   Automobile exhaust  

(B) Petroleum refineries  

(C) Glass industry 

(D) Thermal power stations  

 79. gok esa iznw”k.k dk izeq[k dkj.k D;k gS \ 

(A) Lopfyr okgu dk /kqvka 

(B) isVªksfy;e fjQkbujh 

(C) ‘kh’kk m|ksx 

(D) rkih; ÅtkZ dsUnz 

80. Which among them are not righty 

matched ? 

(A)   Singrauli - UP 

(B) Korba - MP 

(C) Farakka - WB 

(D) Obra - Jharkhand 

 80. buesa ls dkSu lqesfyr ugha gS \ 

(A) flaxjkSyh & ;wŒihŒ 

(B) dksjck & ,eŒihŒ 

(C) QjDdk & if’pe caxky 

(D) vkscjk &>kj[k.M 

81. Metals that cause disease in human 

in excess quantities is: 

(A)   Lead and nickel 

(B) Arsenic and Tin 

(C) Titanium and Cadmium 

(D) All the above 

 81. dkSu lh /kkrq dh vf/kdrk ls jksx gksrk gS \ 

(A) ‘kh’kk o fufdy 

(B) vklsZfud o fVu 

(C) VSfVfu;e o dSMfe;e 

(D) mijksDr lHkh 

82. Which gas is involved in the 

erosion of marble in Buildings ? 

(A)   N2O 

(B) SO2 

(C) CO 

(D) F 

 82. laxejej dk vijnu Hkouks esa fdl xSl ls 

gksrk gS \ 

(A)   N2O 

(B) SO2 

(C) CO 

(D) F 
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83. Which gas are responsible for 

Acid Rain? 

(A)   Sulphur Oxides 

(B) Nitrogen Oxides 

(C) Both the above 

(D) None of the above 

 83. vEyh; o”kkZ ds fy;s dkSu lh xSl ftEEksnkj 

gS \ 

(A) lYQj MkbZ vkWDlkbM 

(B) ukbVªkstu ds vkWDlkbM~l 

(C) mijksDr nksuksa 

(D) mijksDr esa dksbZ ugha 

84. Fish grave yards in the taken are 

formed due to : 

(A)   Heavy metals 

(B) Acidity 

(C) Both the above 

(D) None of the above 

 84. rkykcksa esa eNfy;ksa dk ‘kelku curk gS % 

(A) Hkkjh /kkrqvksa ls 

(B) vEyh;rk ls 

(C) mijksDr nksuksa 

(D) mijksDr esa ugha 

85. Which Gas protect us from 
harmful effect of uv radiation from 
sun ? 
(A)   CO 
(B) O3 
(C) H2S 
(D) N2O 

 85. lw;Z dh ijkcSxuh fdj.kksa ds gkfudkjd izHkko 

ls j{kk djrh gS % 

(A)   CO 
(B) O3 
(C) H2S 
(D) N2O 

86. The first global conference on 

ozone layer depletion was held in : 

(A)   Stock home 

(B) Vienna 

(C) Copenhagen 

(D) Rome 

 86. vkstksu irZ ds vijnu ij igyk oSf’od 

lEesyu gqvk % 

(A) LVkdgkse esa 

(B) fo;suk esa 

(C) dksisugsxu esa 

(D) jkse esa 
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87. Which Gas is known as Marsh 

Gas? 

(A)   CH4 

(B) C2H2 

(C) CCl2F2 

(D) None of the above 

 87. fdl xSl dks eklZ xSl dgrs gS \ 

(A)   CH4 

(B) C2H2 

(C) CCl2F2 

(D) mijksDr esa ugha 

88. The Chief cause of water 

blooming in lakes as : 

(A)   Growth of Algae  

(B) Growth of Phosphates in 

water 

(C) Increasing oxygen demand in 

water 

(D) All the above 

 88. rkykcks esa ikuh dk f[kyuk >jh otg ls 

gksrk gS % 

(A) ‘kSoky òf) ls 

(B) QkLQsV of) ls 

(C) ikuh esa vkWDlhtu ek¡x c<+ tkus ls 

(D) mijksDr lHkh 

89. BOD of Pure is Safe drinking 

water : 

(A)   Zero 

(B) 1 to 10 mg/liter 

(C) 1 to 20 mg/liter 

(D) None of the above 

 89. ihus ds ikuh dk BOD gksrk gS % 

(A) ‘kwU; 

(B) 1 ls 10 mg/liter 

(C) 1 ls 20 mg/liter 

(D) mijksDr esa ugha 

90. Which river is called us an open 
sewer? 
(A)   Ganga 
(B) Mahanadi 
(C) Yamuna 
(D) Godavari 

 90. fdl unh dks [kqyk lhoj dgk tkrk gS \ 

(A) xaxk 

(B) egkunh 

(C) ;equk 

(D) xksnkojh 
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91. Solid waste Pollution can be 

controlled by : 

(A)   Reuse of Energy generation 

(B) Re Cycle 

(C) Composting 

(D) All the above 

 91. lkfyM osLV ¼Bksl vif’k”V½ iznw”k.k dks 

fu;af=r dj ldrs gSa % 

(A) nksckjk bLrseky ls ÅtkZ cukdj 

(B) pØh;dj.k ls 

(C) [kkn~ cukdj 

(D) mijksDr lHkh 

92. WHO has fixed _____ decibel as 

the safe noise land. 

(A)   80 dB 

(B) 45 dB 

(C) 50 dB 

(D) 60 dB 

 92. WHO }kjk ‘kksj fu;a=.k bl lhek rd 

lqjf{kr gS % 

(A)   80 dB 

(B) 45 dB 

(C) 50 dB 

(D) 60 dB 

93. Human can hear sound from 16 to 

________ Hertz. 

(A)   20,000 hz 

(B) 40,000 hz 

(C) 50,000 hz 

(D) 60,000 hz 

 93. euq”; 16 ls _____ gVZ~t rd dh /ofu 

rjaxksa dks lqu ldrk gS % 

(A)   20,000 hz 

(B) 40,000 hz 

(C) 50,000 hz 

(D) 60,000 hz 

94. Match the correct : 

(A)   Environment Protection Act – 

1986 

(B) The Air Act – 1981 

(C) Control of water pollution 

Act – 1974 

(D) All the above 

 94. lqesfyr djsa % 

(A) i;kZoj.k laj{k.k vf/kfu;e &1986 

(B) gok vf/kfu;e &1981 

(C) tyh; iznw”k.k vf/kfu;e&1974 

(D) mijksDr lHkh 



Series-B B.Com.(Part-II&III)– 0512 Page - 26 

95. Lotic and Lentic terms are used to 

define : 

(A)   Water 

(B) Air 

(C) Soil 

(D) None of the above 

 95. yksfVd o ySfUVd ‘kCnkoyh dk mi;ksx 

bldks ifjHkkf”kr djrk gS % 

(A) ikuh 

(B) gok 

(C) feêh 

(D) mijksDr esa ugha 

96. In Ecological Pyramids of number 

relationship among followings 

member are shown : 

(A)   Producer and herbivores  

(B) Herbivore’s and Carnivores 

(C) Herbivores, carnivores and 

Omnivorous 

(D) None of the above 

 96. ifjfLFkfrd fijkfeM esa la[;k }kjk buesa 

lEca/k iznf’kZr gksrk gS % 

(A) mRiknd vkSj ‘kkdkgkjh 

(B) ‘kkdkgkjh vkSj ekalkgkjh  

(C) ‘kkdkgkjh ekalkgkjh o loZHk{kh 

(D) mijksDr esa ugha 

97. Pyramid of Biomass in pond is? 

(A)   Upright 

(B) Inverted 

(C) Both 

(D) None of the above 

 97. thoHkkj dk fijkfeM rkykc eas dSlk gksrk 

gS\ 

(A) lh/kk 

(B) mYVk 

(C) nksuksa 

(D) mijksDr esa ugha 
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98. Energy soulant decreases in energy 

trophic levels therefore Pyramid of 

energy is always :  

(A)   Inverted 

(B) Upright 

(C) Flat 

(D) None of the above 

 98. ÅtkZ gj Hkkstu LRkj ij fxjrh gS bl fy;s 

ÅtkZ dk fijkfeM ges’kk % 

(A) mYVk 

(B) lh/kk 

(C) lery 

(D) mijksDr esa ugha 

99. 

 

 

 

Who participate in functional 

system of an Ecosystem ? 

(A)   Producer and herbivores 

(B) Producer, herbivores 

andcarnivores 

(C) Producer herbivores 

Carnivores and decomposers 

(D) None of the above 

 99. 

 

 

 

ikfjfLFkfrdh ra= esa dk;ksZa gsrq dkSu dkSu 

Hkkx ysrk gS \ 

(A) mRiknd&’kkdkgkjh 

(B) mRiknd&’kkdkgkjh ekalkgkjh 

(C) mRiknd ‘kkdkgkjh ekalkgkjh vkSj 

vi?kVd 

(D) mijksDr esa ugha 

100. Carbon occurs in Earth rocks as: 

(A)   Calcium carbonate 

(B) Magnesium Carbonate 

(C) Both 

(D) None of the above 

 100. ìFoh dh pêkuksa es dkcZu bl :i esa feyrk 

gS % 

(A) dSfYl;e dkcksZusV 

(B) eSXuhf’k;e dkcksZusV 

(C) mijksDr nksuksa 

(D) mijksDr esa ugha 

****** 



Series-B B.Com.(Part-II&III)– 0512 Page - 28 

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which All 100 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


